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� ¤ ­¨¥ 1. � ©â¨ ¯à®¨§¢®¤­ãî ∂u

∂x
äã­ªæ¨¨

u = arcsin
(

9− 5x− 2yz

4x− 3

)
¢ â®çª¥ M0 (1,−2,−1).

� ¤ ­¨¥ 2. � ©â¨ ¯à®¨§¢®¤­ãî ∂2u

∂x∂y
äã­ªæ¨¨

u = 4
√

2− (2x+y + 2)3 ¢ â®çª¥ M0 (−3,5).

� ¤ ­¨¥ 3. � ©â¨ ¯à®¨§¢®¤­ãî äã­ªæ¨¨ z = 3x4y−xy3 + 3

¢ â®çª¥ M (1,−2) ¯® ­ ¯à ¢«¥­¨î ¢¥ªâ®à  −−→
MN , £¤¥

N (−2,2).

� ¤ ­¨¥ 4. � ©â¨ áã¬¬ã ª®®à¤¨­ â â®çª¨ «®ª «ì­®£® ¬¨­¨¬ã-
¬  äã­ªæ¨¨ z = x2−xy + 6y2− 2y .

� ¤ ­¨¥ 5. � ©â¨ à §­®áâì ¬¥¦¤ã ­ ¨¡®«ìè¨¬ ¨ ­ ¨¬¥­ìè¨¬
§­ ç¥­¨ï¬¨ äã­ªæ¨¨ z = 9x2 + 4y2 − 12x + 4y + 8 ¢
®¡« áâ¨ D, ®£à ­¨ç¥­­®© «¨­¨ï¬¨ x = 1, y =−1,

4x− 3y =−5 .

�â¢¥âë: 1) 11 2)− 51
8 3) 12

5 4) 6
23 5) 65
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